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'DODP�3HQJHUMDDQ�7XJDV�$NKLU�LQL��EDQ\DN�SLKDN�\DQJ�\DQJ�WHODK�PHPEDQWX

SHQXOLV�XQWXN�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�GHQJDQ�EDLN��3HQXOLV�LQJLQ

PHPSHUVHPEDKNDQ�7XJDV�$NKLU�LQL�XQWXN�

�� .HGXD�RUDQJ�WXD�+HUX�)LUGDXV 6�2V��	�,LQ�0DXOLQD�,QGUD\DQL�6�(��\DQJ�

WHODK�PHPEHUVDUNDQ�SHQXOLV�KLQJJD�VDPSDL�MHQMDQJ�SHQGLGLNDQ�WLQJJL�GDQ�

MXJD�GXNXQJDQ�SHQXK�WHUKDGDS�SHUNXOLDKDQ�DJDU�GDSDW�PHQGDSDWNDQ�JHODU�

JXQD�PHQMDGL�EHNDO�GDODP�NHKLGXSDQ�NHGHSDQ��

�� $GLN�WHUFLQWD��5D\�$JXVWDI�)LUGDXV�\DQJ�VHODOX�PHPEHULNDQ�GXNXQJDQ��

PHQJKLEXU GDQ PHPEHUL�NHFHULDDQ�

�� 6DKDEDW WHUGHNDW $QQLVD 0XJKQLDWL \DQJ VHODOX PHPEHUL GXNXQJDQ GDODP

VHWLDS WDKDSDQ SHQJHUMDDQ�


